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dx√
1− x2

= sin−1 x+ C
∫

dx

1 + x2
= tan−1 x+ C

∫
dx√
x2 + 1

= sinh−1 x+ C
∫

dx√
x2 − 1

= cosh−1 x+ C
∫

sec x dx = ln | tan x+ secx|+ C
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U#VUjV q?B+? Q7 i?2 7QHHQrBM; 7mM+iBQM f(x) b�iBb7v f−1(x) = f(x)\ *?QQb2
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�X f(x) = 1
x2

"X f(x) = 3x

*X f(x) = 2− x

.X f(x) = −x

1X f(x) =
{
−1

2x x ≤ 0

−2x x ≥ 0

U+VUjV h`m2 Q` 6�Hb2, cos(sin−1(− 1√
2
)) = − 1√
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X
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sinn x dx = −1

n
sinn−1 x cos x+

n− 1

n

∫
sinn−2 x dx
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dx√
9x2 − 1

\
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�X x = 1
3 cosh u

"X x = 3 cosu

*X x = 1
3 sin u

.X x = 1
3 secu

1X x = 3 tan u
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